TH2-3T4: ST SFAIdlel US ad fBasa
M2-R4: INTERNET TECHNOLOGY & WEB DESIGN

9 03 o<
DURATION: 03 Hours

e o
Roll No.:

qdYerreft F1 AT

Name of Candidate:

FFaA 3+ 100
MAXIMUM MARKS: 100

AMTHIR ofle §.:
OMR Sheet No.:

-GS 4.

Answer Sheet No.:

et & gEaEw:
; Signature of candidate:

wiianfdat & fow e

Instructions for Candidate:

FOUAT GA-YRETH, INTANR efe vd 3Rt & &I v et
I €T qaeh TGl

Carefully read the instructions given on Question Paper, OMR Sheet
and Answer Sheet.

TeA-GiEer T AT el vd SIS A Bl qlemdi e off we
YT &7 T B TehdT g1 (372U, I1 ar Bear ar 373rsh)

Question Paper is in Hindi and English language. Candidate can
choose to answer in any one of the language (i.e., either Hindi or
English)
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There are TWO PARTS in this Module/Paper. PART ONE contains
FOUR questions and PART TWO contains FIVE questions.
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PART ONE is Objective type and carries 40 Marks. PART TWO is
subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER SHEET only,
supplied with the question paper, as per the instructions contained
therein. PART ONE is NOT to be answered in the answer book for
PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR. Answer book
for PART TWO will be supplied at the table when the answer sheet
for PART ONE is returned. However, candidates who complete
PART ONE earlier than one hour, can collect the answer book for
PART TWO immediately after handing over the answer sheet for
PART ONE.
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Candidate cannot leave the examination halllroom without
signing on the attendance sheet or handing over his Answer
sheet to the invigilator. Failing in doing so, will amount to
disqualification of Candidate in this Module/Paper.
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After receiving the instruction to open the booklet and before
answering the questions, the candidate should ensure that the
Question booklet is complete in all respect.

are: iy R dvtor & F1% R/ REafy o sneh §, @ 39 srawwr F IS dwwOr & A @ |

Note: In case of any discrepancy found in Hindi language, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




PART ONE / Hkkx ,d
(Answer all the questi‘ons) 1 YalHkh iz’uksa
ds mUkj nsa'.

1. izR;sd iz’u ds mUkjksa ds dbZ
fodYi uhps fn, x, gSaA ,d Icls
mi;qDr fodYi pqusa vkSj mlis
fuEufyflkr funsZ’kksa ds vuqlkj
iz’u i= ds IkFk miyC/k djk, x,
AAvks,evkj** mUkj i=d esa ntZ
djsaA
Each question below gives a multiple choice of
answers. Choose the most appropriate one

and enter in the “OMR” answer sheet supplied
with the question paper, following instructions

therein. (1x10)
1.1 IPv6 T3dT T 3R &Il &
A) 32 feH B) 64 faca
C) 128 fscw D) 256 feca
IPv6 addressed have a size of
A) 32 bits B) 64 bits
C) 128 bits D) 256 bits
1.2 TCP/IP T Jofieeyr dIehiel Fe g it
foF OS| Al ¥ Ugel fasfad fovar o |
A) 78 B) 5-orad
C) 4-org® D) 3-o3d
TCP/IP is a hierarchical protocol suite
developed before the OSI model.
A) T7-layers B) 5-layers
C) 4-layers D) 3-layers

1.3 TS U §-AT UIed F ThdTl &, olfched dg 3T
AT A AG TohaT | AeAfaf@d & & T @r
Tad: 3% ToIT FHATAT 3ceT Y T 87

A) POP3 B) SMTP
C) IMAP D) UART
Raj can receive his e-mail, but he cannot send

e-mail. Which of the following is most likely
causing his problem?

A) POP3 B) SMTP

C) IMAP D) UART

1.4 4 91ST TS USH H A BT &

A) STah T B) @e ugH

C) A) 3R B)am=r D) 3Wied H ¥ HIg gl

The 4 byte IP address consists of
A) Network Address B) Host Address
C) Both A) and B) D) None of the above

1.5 SMTP & T f3wlec U< §:
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A) 21 B) 23
C) 25 D) 80
The default port for SMTP is:
A) 21 B) 23
C) 25 D) 80
1.6 3 TIGdTol H Ueh o1 T [T ITET BT &
A) ¥R B) &er
C) Rar D) s
In this topology there is a central controller or hub
A) Star B) Mesh
C) Ring D) Bus

1.7 T FYR HAR e S o gt # sgfay
HTY T HTTH H S5 T TEAT Y&Tol H 8, I8
3

A) T (LAN) B) d (WAN)

C) #a (MAN) D) 3Wied H ¥ HIg =Tgf
A computer communication technology that
provides a way to interconnect multiple computers
across short distance is

A) LAN

C) MAN

B) WAN
D) None of the above

1.8 T 39 Ul U Wlel Yeiid &l & 39 el &r
JefId aat & forw fong &9t &t gater fonar arar?

A) R B) A
C) img D) src
A webpage displays a picture. What tag was used
to display that picture?
A) picture
C) img

B) image
D) src

1.9 ISSIIA H 7 AMTAS A & foIT HET HTML T g2

A) <body color="yellow”>

B) <body bgcolor="yellow”>

C) <background>yellow</background>

D) <body background="yellow”>
What is the correct HTML for adding a background
color?

A) <body color="yellow”>

B) <body bgcolor="yellow”>

C) <background>yellow</background>

D) <body background="yellow”>

1.10 TP HierdY BrRRdTel H ey AT g
A) #Hifds =R B) TCellohelel ofdX
C) 3erfas R D) acash ol

A proxy firewall filters at the
A) Physical layer B) Application layer
C) Data link layer D) Network layer
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2- uhps fn, x, izR;sd fooj.k ;k rks IR;
;k VIR; gSA ,d Icls mi;qDr fodYi
pqusa VvkSj mls fuEufyf[kr
funsZ’kksa ds vugqglkj iz’u i= ds
IkFk miyC/k djk, x, “Avks,evkj**
mUkj i=d esa ntZ djsaA

(1x10)

2.1 ﬁ%ra‘rqﬁﬁsﬁaga%%amﬁw%ﬂ

2.2 CLASS A & foIT 255.0.0.0 3%lec sicds A g

2.3 e F% 3TARTRAAT garT LAN & ars fRar s
TehdlT &1

2.4 POP #7asT & 31T aTell $AT AT 8|

2.5 .com R8T 31T &1 wfafafeca Fear g

2.6 Selaic [AT YeIdT A gYEear & T Jar? were Har
¢

2.7 ASP TaR &7 3R & TEhftear ofeaT g

2.8 HTML &7 39919T THIT: a9 398 el & forw
forar Srar &

2.9 TELNET Wieihiel 91¢ 24 9 F H 6T B

2.10 aﬁmﬁﬁ?@mﬁq\umﬁamqu
37T & a8l UDP T 93T fham ST g
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Each statement below is either TRUE or FALSE.
Choose the most appropriate one and enter
your choice in the “OMR” answer sheet
supplied with the question paper, following
instructions therein. (1x10)

2.1 Mesh topology is highly reliable.

2.2 255.0.0. 0is default network mask for CLASS A.

2.3 Printer can be shared in LAN by many users.

2.4 POP is the incoming email server.

2.5 .com is represents education domain.

2.6 Internet Service Provider provides services for web
hosting.

2.7 ASP is server side scripting language.

2.8 HTML is generally use for web designing purpose.

2.9 TELNET protocol is working on port 24.

2.10 UDP is used where the acknowledgement from

receiver side must be needed.
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dkWye x esa fn, x, ‘kCnksa vkSj okD;ksa dk feyku dkWye v esa fn,
x, fudVre lacaf/kr vFkZ @ ‘kCnksa @ okD;ksa Is djsaA muesa fn, X,
vugns’kksa dk ikyu djrs gq, vius fodYi iz’u i= ds |IkFk fn, Xx,
AAvks,evkj** mUKj i=d esa ntZ djsaA

Ya1x10%%
X Y
31 |ug veaw MO &, A. | ARPANET
32 | zwat ST R AT Oof o At & T AT T &, B. [DNS
3.3 |zow R ot ST Fomse T WU AT S ThaT . C. |ISDN
3.4 | zgeT YT Sexeie W fAffeeT JahR 1 3eT wigelt & fafasg & forw frar D. | FDDI
ST & : 3713, Afs3N, A9, Toelhere WamFg
3.5 | zgeRr yANeT &Y AE & o T Huh T e & e fomam Smar §. E. | IMAP4
3.6 | TCP/IP gg #I &riifead &¥et & fow gu# aeas. F. |ATM
37 | g et RaT 3TETRE AT L, G. |IRC
3.8 | g5 degedl & fov Avfiaey fassfead Arihst Jotel §. H. | SGML
3.9 | zHer 3T URIRS Afhed & FIR eafey, N3, 37 3R 377 Acas I | ®r=er 37RO Wicthie
Jar3tt & FfSee gevwor & faw fmar smar g,
3.10 |[FTP J. | PPP
K. | HTML
L. | HTTP
M. | SLIP
4- uhps fn, X, izR;sd okD; esa uhps nh xbZ Iwph Is ,d ‘kCn ;k okD;
dks [kkyh LFkku esa yxk,aA Icls mi;gDr fodYi pqusa vkSj mls
fuEufyf[kr vugns’kksa ds vugqlkj iz’u i= ds IkFk fn, x, **vks,evkj**
mUkj i=d esa viuk fodYi ntZ djsaA
Ya1x10%2
A | e B. |13 C. |IRC
D. MAC TsH E <f&pce> F. IP T3
G. |SLIP H | e I. | UDP
J. | Eams K. | ATM L. | <IDOCTYPE>
M. <Q—T|??ﬂ'>
41 g & aifoifsas fehareeral i Tgraar & fow T 3G HT YT il &
42  HTMLYS & JFUA H <Her> vfose anfie fhar s asar §
4.3 A& [aur f[qa 79 & THg TEIoT & Tov fSSimse fohar a1 8, dfehet fo¥sit det & eanrt safed
2 st FEoT Y o7 A ST
4.4 ST T Hlfdleh T &.
45 Teh 3UIUT § ToTent YT Acdeh o2 & Torw forar Srar §
4.6 Tehlsd 3T &l ore, AU 3R & Shca # saeraar g
4.7 3T T 3TN Feh, 31T SATalT &Hee & HTML STargie ¥ ATiAe T dehd &
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4.8 I 3TN Scash H ST T gt & forw foham Srer §

4.9 Teh STAC HISThiol hT HYEIHIOT & S fob TRTer dieq 3R ATSH Folererel W o forw IR famar
IATE

410  <html> EI7 & 9§, YT 39 HTML S&dasl & T&d Ugel AT F ST A1gT
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3. Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s) in
column Y. Enter your selection in the “OMR” answer sheet supplied with the question paper,

following instructions therein. (1x10)
X Y
3.1 It is stateless protocol. A. ARPANET
3.2 It is used to create static web page. B. DNS
3.3 It can be accessed from any email client. C. ISDN
3.4 It is used to exchange different kinds of data files on the Internet: D. FDDI
audio, video, images, application programs.
3.5 It is used to establish a direct connection between two nodes. E. IMAP4
3.6 First network to implement TCP/IP suite. F. ATM
3.7 It is token ring based protocol. G. IRC
3.8 It is hierarchical decentralized naming system for computers. H. SGML
3.9 It is used for digital transmission of voice, video, data and other . File Transfer Protocol
network services over the traditional circuits.
3.10 | FTP J. PPP
K. HTML
L. HTTP
M. SLIP
4, Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list below.
Choose the most appropriate option, enter your choice in the “OMR” answer sheet supplied with
the question paper, following instructions therein. (1x10)
A. Repeater B. Router C. IRC
D. MAC address E. <script> F. IP address
G. |SLIP H. |<head> L UDP
J. E-Commerce K. |ATM L. <IDOCTYPE>
M. |[<style>
4.1 provides a universal platform to support commercial activities across the globe.
4.2 <meta> element can be added in the section of HTML page.
4.3 is mainly designed for group communication in discussion forums, but also allows one-on-one
communication via private messages.
4.4 is physical address of computer.
4.5 is device which is used in Network layer.
4.6 uses encodes data into small, fixed-sized packets.
4.7 Using tag, you can add JavaScript in HTML document.
4.8 is used to identify computer in network.
4.9 is an encapsulation of the Internet Protocol designed to work over serial ports and modem
connections.
410 The declaration must be the very first thing in your HTML document, before the <htmI> tag.
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Hkkx nks / pArRT TWO
YsfdUgha pkj iz’uksa dk mUKj
nsa1/z/(Answer any FOUR questions)

5.
a) g9 3R g & frg 3/aw aarv
b) FDDI & samEar &
C) ocach cIuTeliol T &2 THT SATATSNIN & AT FdATT
foreel et <A caTeaT
a) Give difference between hub and switch.
b) Explain FDDI.
c) What is Network topology? List all topologies.
Explain any three.
(3+4+8)
6.
a) WIIRATe FT §? BIARATd o JehlX hl SITEAT .
b) =eadh I FI&T & foIT SSL & 39N hr egTEaT HhY
c) LAN, MAN Td WAN 3 & &7 37cR 872
a) What is firewall? Explain types of firewall.
b) Explain the use of SSL to secure the network.
c) What is the difference between LAN, MAN &
WAN?
(5+5+5)
7.
a) HTML &1 g2 a9 B3amsfaer & {enear dr sarear
H
b) IP T3f&eT Aretalr & X H §ard
c) TABLE &3 &l 391T &Xd §T Ush HTML #15 ford
IR Fafaf@d grar daR
A B C
D|E|F|G
H I J
K
a) What is HTML? Explain principals of web
designing.
b) Explain IP addressing scheme.
c) Write a HTML code using TABLE tag and create
following structure:
A B C
D|E|F|G
H I J
K
(5+5+5)
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»

O T

T Q

()

CGlFaT§?
SIAT ATH YUTTT T STTEAT HY

TCP/IP T&Iq & TISE Y

What is CGI?
Explain domain name system.
Explain TCP/IP in brief.

S W HiaTed feoqul forg
Www

fsforce gearar

T ot

Write short notes on:
WWW

Digital Signature
Search Engine

(3+4+8)

(5+5+5)
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